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A woman and a slave have an obligation

OVERVIEW

The 13 stated that if the °% is not a X21°17 72 then the mwn is obligated for
the actions of the m°%w. However an 7231 nwX are X211 °12 and therefore if
they steal on behalf of a n%wn he is MWo. Our MOYIN questions and explains
this premise that if the 2>m>w are not X21°17 °12, then the n>wn is 2°7.

mooin asks:
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And if you will say; but we learnt in a 722 in 921277 P99 -
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One who sent a fire in the hands of a deaf mute, an idiot or a minor, the

sender is exempt from paying for the damage they caused -
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But why is he 7105, for they are not obligated parties, and we say here that if
the M5 is not a Xa1n 72 then the mown is 217!

n90IN answers:
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And one can say, that the reason he is M5 there is because they are not

capable of being @ mbw, therefore there can be no obligation on the one who sent
them, for they are not his 2m>w.

SUMMARY
A person is M9 if he causes damage through a juP1 7YY W7 whom he sent,
because they cannot be (his) 2mb>w.

THINKING IT OVER

Why did nmooin ‘wait’ with his question until after the X723 discussed 7WX
729; why did Mmoo not ask his question directly on the answer of X1°27 that
if the 2’mM»Ww are not X211 13, the mHwn is 2°°m, so if he sent a fire with a Y"'wn
he should be 2n?!*

" A m5w is only one who is a responsible person (see *"w" here *317"7).
? See "X # 209.
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